Efficiency vs Dxy(PV)
SO.OS

%045
3
©0.04
>
2.035
)
£0.03
g
®.025
0.02
0.015]

L LN N LRl UL LN LAl LR LR LA LA

05 =20-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

[—— DQM_mKFIT_TTorgmal

—e— DQM_mkFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-statErr
— —— DQM_mkFit_TT_JanUpdate-systErr
[ Efficienc] —— DOM_mkFit _TT JanUpdate-bothErr

0.3]
0.25

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

S L

g [

% -

e i R R R

o T

> : : : : :

o I . . . . .

G 0.8f--eeees PRRRRREEE LALY e e

= r . . . . .

15} o . . . . .
[ eeees A0 HEEE RERERE FRRERE
O | S
02-_ ........... LIS EX | | BRI LI

° L.G- i i i i

3

@

10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 - -
o L . .
5t : :
1 1 . .
> . .
> N .
o . .
G 0.8
S [ . .
© 3 . .
0.6f------- g g g :
0.4 3eeee feeeeans feeeeens P :
0.2f-d--enne eeeeans foeeees : :
[ ] i * i ] ]
o =0 + b
I .
@ .
P 4 .
095 .
-1 -0.5 0



	Contents
	Page 1


